
 

Class 5 -ANSWER  KEY   -    SET  B 

 

I a) i gold coins  b) ii mango saplings c) iii selflessly     d) ii a bag of gold coins                 ½ mark 

each = 2 

e) There would be others who would gain from the trees. These trees will give fruits and shelter 

to those in need. They will also help bring rain and people will never die of famine.’(any two 

points )                 1 mark 

 

f) Sapling             1/2 mark 

g) Selflessly        1/2  

h)True                  1/2 

i) True                   ½ 

 

II  1. Mother has finished reading the newspaper.               1mark each  = 3 marks 

2.   Grandfather was telling the children the story of Sindbad’s adventure. 

3.  I took two books with me on holiday. 

     On holiday, I took two books with me. 

 

III                                                                                           1mark each = 3 marks  

1. Robin Hood 

2. his merry men / his band of merry men 

3. as it was dull there / it was boring there/ it was not exciting there 

 

IV                                                                                         2 marks each = 4 marks       

1 Robin would blow three loud notes on his horn to signal his band of men to come if he needed 

any help. He also blew three loud notes to let them come and meet Little John. 

 

2    Ans: She struggled wildly leaving pegs and the clothes line . She flew away like a bird, very 

far so that no one can follow her or find her. 

V 1. Cruel leader  2 eager   3 not able to rest or relax   4 move quickly and lightly     2 marks 

VI Sentence should be grammatically correct and meaningful.                                    1 mark 

VII 1. Stranger   2 archery  3 retorted    4 earnestly     2 marks 

 



 


